MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603

BUILDING CODE COMPLIANCE OFFICE (BCCO) MIAMI, FLORIDA 33130-1563
PRODUCT CONTROL DIVISION (305) 3752901  FAX (305) 372-6339
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

American Warming and Ventilating
7301 International Drive
Holland, OH 43528

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model LE-54 5” deep Aluminum Louver

APPROVAL DOCUMENT: Drawing No. 1670, titled “LE-54 Impact Louver System”, sheets 1 through 10
of 10, dated 07/23/09, prepared by W. W. Schaefer Engineering & Consulting, P.A., signed and sealed by
Warren. W. Schaefer, P.E., bearing the Miami-Dade County Product Control approval stamp with the Notice
of Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Bradner, Ohio,
and the following statement: "Miami-Dade County Product Control Approved", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 09-1015.10
Expiration Date: January 06, 2015
Approval Date: January 06, 2010

/ iZ/’4/0? Page 1

MIAMIDADE COUNTY

APPROVED




American Warming and Ventilating

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1.

Drawing No. 1670, titled “LE-54 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/09, prepared by W. W. Schaefer Engineering & Consulting, P.A., signed
and sealed by Warren W. Schaefer, P.E.

B.  TESTS

1.

Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0305-09, dated 09/29/09, signed and sealed by Vinu J. Abraham, P.E.
Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0715-09, dated 09/30/09, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS

1.

Structural calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 10/06/09, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS

1.

None.

F. STATEMENTS

1.

2.

3.

2007 Florida Building Code compliance letter issued by W. W. Schaefer Engineering
& Consulting, P.A., dated 10/07/09, signed and sealed by Warren W. Schaefer, P.E.
No financial interest letter issued by W. W. Schaefer Engineering & Consulting, P.A,
dated 10/13/09, signed and sealed by Warren W. Schaefer, P.E.

Code compliance letters issued by Hurricane Test Laboratory, Inc., dated 09/29/03 and
09/30/09, signed and sealed by Vinu J. Abraham, P.E.

7/14/09

Carlo$ M. Utrera, P.E.

Product Control Examiner

NOA No. 09-1015.10

Expiration Date: January 06, 2015
Approval Date: January 06, 2010



PANEL LOAD TABLE | SEE CORNER 50 MAX. FRAME WIDTH — JAMB ANCHORS TO SUBSTRATE PER ANCHOR PANEL ANCHOR SPACING/PRESSURE TABLE Wi |"wws™
(WITH SIDE CLIPS) | CONSTRUCTION : REQUIREMENTS TABLE ON SHEET 1. SEE (WITH CONTINUQOUS SIDE SUPPORT ANGLE) ™2 "z
DESCRIPTIONS m o uax ANCHOR SPACING TABLE ON THIS SHEET FOR REETS NELE 7o TOUVER
1 . . SP DISTANCE.
PANEL|()CLIP | ALOWABLE | ON THIS SHEET— -y \&/ r [ MAX. \SPACING & END DIS PANEL ISUBSTRATE_ANCHORS| FRAME SCREWS _| ALLOWABLE | &
i | N | (/2 PSP Y= — N 7\ V‘é:RT) SPACING [ END DIST.| SPACING | END DIST. | ({ /= psF)
5 . r f — ,70X21“—j . (IN.) (IN.) (IN.) (IN.) N
F——27——CONTINUOUS 5
36 13 104 19 Zz A > &2 UPPORT ANGLE 8 4 4 2 120
JAMB CLIP AT OkLw= 5 — 71
2 0 o B 7Bl 4132 Wi s g =3 18 9 9 41/2 75 |E
APPLICABLE \ 4 ] |2 1 AV 205 Du g IR 7TV 8 n 4 2 120 I3
42 13 89 WHEN LOWER 2\ =0 En® Shxx — i
B ” IS SLEEVE { LTl WTo s A — 42 13 71/2 | 7172 3 3/4 89 z
MOUNTED) \4_/ ‘\% HrEoo WEG S IR — S
8 120 /B 783 = o D\ —JAMB SPLICE 18 9 9 41/2] &+ |2
48 3 78 o -, 15 ‘ ) WHEN REQUIRED 8 4 4 2 120 JI*
8 56 = /B4 :,’Baé 4" MAX. VA —p = FOR STACKING 48 13 7 1/2 7 1/2 3 3/4 78 g
= \&/ = . B Lot = ] (SEE SECTION 18 9 9 4 1/2| 56
8 120 = / = = | 4" MAX. 47 MAX. [ =7/ A1/4 FOR ‘
54 | 13 69 5 JavB sPUCE ~ |5 ALLOWABLE DESIGN ——— DETAL). SPLICE 8 4 4 2 120 o
18 50 \FIQVSCEKTIRED = PRESSURE = o o of 7 LOCATION TO BE 54 13 71/2 | 71/2 3 3/4 69 Z
h 8 120 FOR STACKING |l (SINGLE LOUVER PANEL) HI O = 8-035 I%% BETWEEN BLADES. 18 9 9 41/2] 50 % w
= W= Q = <C * -~
60 | 13 62 (SEE SECTION  |EI'SEE "PANEL LoAD TABLE'H] SI32 wiiSa B LOUVER—\ 8 4 4 2 120 E &3
18 45 A1/4 FOR HION THIS SHEET FOR Bl =96 Dug? FRMEZ)\ —LOUVER (REF. s0 13 Tz T TR T S ez g o3,
: DETAIL). =) ALLOWABLE PRESSURE. E -y F0*s B Z) ELEVATIONS ON 18 9 9 4 1/2 45 ¥ 3
(1) CLIP SPACING WITHIN SPLICE | HESS wToE S SHEET 1 & 2) 3 2.3
SLEEVE MOUNTED LOUVERS LOCATION TO @ L n 22 : =/ =
MAY NOT VARY AND SHALL B BETWEEN l < il —7 Z 309
ALWAYS BE 8" BLADES. | “H 7 z x57
4 ” MAX L » =«
. 4" MAX. ;—“{::) NOTE: SINGLE LOUVER PANELS MAY BE Z -0
EXTERIOR ELEVATION; SUPPORT ANGLE TO LOUVER FRAME CONNECTION STACKED/SPLICED VERTICALLY OR THE .S 3T
SINGLE LOUVER PANEL SCREW. SEE ANCHOR SPACING TABLE ON This LOUVER PANEL MAY RUN VERTICALLY TO [E& ™
ARCHITECTURA NON-—A INFINITE HEIGHT PROVIDING OPENING IS ==
( URAL & NON—ARCHITECTURAL) INTERIOR ELEVATION: PROPERLY DESIGNED BY OTHERS TO e <
SCALE: 1/2" = 1'-0 SUPPORT THE LOUVER PANELS. L
ﬂ (OPTIONAL SIDE JAMB INSTALLATION WITH n E
i ]
CENERAL NOTES: CONTINUQUS SIDE_ANGLES) Clsle .8
1. THESE LOUVER SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED SCALE: 1/2" = -0 SLEEVE SPLICING NOTE_FOR SLEEVE MOUNTED LOUVERS: =3 l-LY.
THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). (FOR DETAIL NOT SHOWN, SEE OTHER ELEVATIONS) SLEEVE MAY BE SPLICED ALONG HORIZONTAL OR 9 H(‘ oph
EE)AD%P%WT%SE' SB1EJI§UK(§¥SRS£ BﬁCEISELLFAggEPHEgSR EMUSTN B‘E PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND VERTICAL RUNS PROVIDING SPLICE DOES NOT OCCUR — Za k&
i SPONSIBILITY OF THE PERMIT HOLDER TO VERIFY » &
INTEGRITY OF THE EXISTING STRUCTURE TO SUPFORT THE LOADS SUPERMPOSED BY THE LOUVERS. | 1o WITHIN 127 OF ANY VERTICAL MULLION CENTERLINE. 2 %o‘a %
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY UNLESS o Z 32"
SPECIFICALLY MENTIONED ON THE DRAWNGS.  SPECIFIED ANCHOR EMBED TO BASE MATERAL SHALL BE BEYOND WALL 2| x5 oy
. 28
g.YCJCHE&DmlLS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR IMPACT, ANCHOR REQUIREMENTS TABLE S éa £21
IFORM STATI 298
Taems0r 209 PN A&RZEEaISSUSTEERSPTKE‘:? I (SONFORMANCE. WITH THE FLORIDA BUILDING CODE PROTOCALS °<§5'3§$R,§5E FRAME CLIP TO OPENNG FASTENER |MINAUM| MINIMU CORNER & BLADE END CONSTRUCTION: 4 e 5% 3§$
5. THESE LOUVER SYSTEMS HAVE BEEN DESIGNED iN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE ST ERAME HEAD: HORIZONTAL MEMBER IS SQUARE CUT, BUTTED TO = :z;mo 2.3
FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ). JAMB & NON--REINFORCED MULLION END CLIP ANCHORS VERTICAL MEMBERS & FASTENED WITH TWO(2) NO. 7 X 1 1/4" 5. as?
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE LOUVER SYSTEMS. MIN. 2X_ WOOD FRAME OR BUCK . R SMS HEX HEAD SCREWS INTO THE HORIZONTAL MEMBERS SCREW § 2F 3%d
7. ALL ANCHORS SECURING LOUVER FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF (MIN. GR. 3 & G=0.55) NO. 14 SMS OR WOOD SCREW |1 3/8" | 3/4 SPLINES. R 2
RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD. 5 FRAME SILL: VERTICAL MEMBERS ARE ANGLE CUT, BUTTED TO o o= a
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN MIN. 16 GA. 33 KSI METAL STUD|1/4—14 GR. 5 SELF TAP/DRILL SCREW] FULL 1/2 HORIZONTAL MEMBER & FASTENED WITH TWO(2) NO. 7 X 1 1/4"
ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN MIN. 1/8" THK A36 STEEL _ |1/4—14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" SMS SCREWS INTO THE VERTICAL MEMBERS SCREW SPLINES. i
ACCORDANCE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPUED PER THE  |WIN. 1/8" THK 6063-T5 ALUM. |1/4—14 GR. 5 SELF TAP/DRILL SCREW| FULL .| 1/2° BLADE _END: HORIZONTAL BLADES ARE SQUARE CUT, BUTTED TO o
9. NO INGREASE N ALLOWABLE_ STRESS HAS BEEN USED IN THE CERTIFICATON OF THIS PRODUCT. WIND LOAD ©)_MIN. c-90 CMy () 7/4" CONCRETE SCREW VAL N e Sorne o THE BLAGE Sty Sounes o i
. . M » L‘J“‘
?ngggRliﬁgTomgom J ,§U¥¢A§O$553 FOR WOOD SCREW ANALYSIS ONLY. MIN. 3000 PS| CONCRETE () 1/4" CONCRETE SCREW 11/2° 2" 1 1/47 SMS SCREWS INTO THE BLADE SCREW SPLINES. by
. . ITED TQ STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER DISSIM ;
rfTEEliiALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20. R DISSHILAR T2 WooT FRAVE OT;JEECKMULUON END CLIP ANCHORS 5}2
. EACH LOUVER ASSEMBLY SHALL BE PERMANEN : - X " 74" :
AMERICAN WARMING AND VENTILATING TLY LABELED A5 FOLLOWS (MIN. GR. 3 & 6=0.55) NO. 14 SMS OR WOOD SCREW |1 3/8" | 3/4 e
u%l_]A_N[?A,DSHCOUNTY PRODUCT CONTROL. APPROVED MIN._16 GA 33 KSI METAL STUD|1/4-14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" o
12, THESE LOUVERS ARE NOT TESTED FOR WATER INFILTRATION RESISTANCE, THEREFORE THE LOUVERS ARE TO BE MIN. 1/8" THK A36 STEEL _|1/4~14 GR. 5 SELF TAP/ORILL SCREW| FULL /2 5
INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO DRAIN WATER PENETRATING INTO MIN. 1/8" THK 6063-T5 ALUM. |1/4~14 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" =
1T;|E MRL?L(I)_E[') APNAL:q EEE MR/’\(%OA;EWI[ILOLRl;(())l,ﬁ_ELLV;AT'ERTL?&SIBTANT/WATER PROOF EQUIPMENT, COMPONENTS OR SUPPLIES. 3000 PSI CONCRETE @) 1/2" WEDGE ANCHOR 31/2 3" [ DRAWING NO. | REV.
. STALLED TO AN UNLIMI . —TREV.
PANELS MAY OCCUR PROVIDING A STRUCTURAL SUPPORT IS DESIGNED & INSTALLED BY OTHERS. 10, SUPPORT ALL - (1) CONCRETE SCREWS (PARDENED StezoR aa RAMSET/RED HEAD TAPCONS OR 1670
h%AE:ASU Eg:szifasﬁ% )FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO UNLIMITED HEIGHT PER ELEVATION IF | (») WenGE ANGHORS SHALL BE HILTI STANLESS STEEL KWIK BOLT 3 SHEET NO.
) (3) CMU IS APPLICABLE AT SIDES ONLY. 1 o 10




JoRAWN BY:  [CHECKED BY:

MULLION ALLOWABLE DESIGN PRESSURE
(NON—ARCHITECTURAL LOUVERS)

1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH.

PANEL.

MAXIMUM | MAXIMUM ALLOWABLE PRESSURE
MULLION | L0AD (+/- PSF)
SPAN | WIDTH ["wiT 'NO TUBE |WITH 4"X3"X3/16" |WITH 4'X3°X1/4"
(IN.) (IN.) MULLION TUBE MULLION | TUBE MULLION
60 30.8 46.1 61.4
54 34.0 51.2 68.3
43 38.3 57.6 76.8
120 42 43.7 65.8 87.8
36 51.0 76.8 102.4
30 61.2 92.2 120.0
24 76.5 115.2 120.0
18 102.0 120.0 120.0
60 42.0 63.2 84.3
54 16.6 70.2 93.6
48 52.5 79.0 105.3
108 42 60.0 90.3 120.0
36 70.0 105.3 120.0
30 84.0 120.0 120.0
24 104.9 120.0 120.0
18 120.0 120.0 120.0
60 56.3 90.0 120.0
54 62.5 100.0 120.0
48 70.3 112.5 120.0
96 42 80.4 120.0 120.0
36 93.8 120.0 120.0
30 112.5 120.0 120.0
24 120.0 120.0 120.0
60 64.3 120.0 120.0
54 714 120.0 120.0
8 438 80.4 120.0 120.0
42 918 120.0 120.0
36 | 107.1 120.0 120.0
30 120.0 120.0 120.0
60 75.0 120.0 120.0
54 83.3 120.0 120.0
- 48 93.8 120.0 120.0
42 107.1 120.0 120.0
36 120.0 120.0 120.0
60 90.0 120.0 120.0
60 54 100.0 120.0 120.0
48 112.5 120.0 120.0
42 120.0 120.0 120.0
.8 60 112.5 120.0 120.0
54 120.0 120.0 120.0
42 60 120.0 120.0 120.0
NOTES:

2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF THE PRESSURE
SHOWN IN THIS TABLE & THAT SPECIFIED FOR THE INDIVIDUAL LOUVER

60" MAX. 60" MAX. 60" MAX.
FRAME WIDTH FRAME WIDTH FRAME WIDTH
(ATY AN (OTYD2YDIVDAYDEN
s AL IANIANBABAY/
TE= ¥ —_="‘—J‘~.~
T | | ;
& == ! : r
o | ' ' 767y
o B1 7 F1 i 7 F1 7 B1
o< 7 =Pl == A= = ;té
S (B2 AR ﬁ.'FZéI 782
= \ 4/ — L9 Al 19 Al , { )4%
=2 (B3 == I I i 7B3
b \3/ |~ | \”Béé
g (B I ALLOWABLE DESIGN | .
5w IE PRESSURE El
= : 15 (MULTIPLE =N ,
w = : |E  NON-ARCHITECTURAL  H s
z° nE PANELS) =
“3 | SEE MULLION g
-3 IH PRESSURE TABLE £
N IlH ON THIS SHEET &l
£ I |
I
]

IO

W.RM. W.WS.

PLOT: DATE:
1=24 07/23/09

H

FOR LOCATIONS OF
JAMB CLIPS, SEE
SINGLE PANEL
ELEVATION (NOTE

THAT FRAME SPLICE
DOES NOT APPLY TO

MULLED UNITS)

\\

4
~— MULLION LOAD WIDTH —==— MULLION LOAD WIDTH —
PANEL PANEL
CENTERLINE CENTERLINE

EXTERIOR ELEVATION:
MULITPLIE LOUVER PANELS
(NON—ARCHITECTURAL)
SCALE: 1/2" = 1'=0"

(3 PANEL UNIT SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)

PANEL
CENTERLINE

j
Z
o
&
r4
]
=
a
4
Q
wn
jm
a
z
S)
)
b
/4
o
=z
(&)
Z
gu
_200
E x
& o
M O
><_(I<I—O
8=z 3
oQL‘I’
O =I,
Z 30
S £ . w
e a0 |
: 220
zna'd-
Z -
O BT
W~
°E
ale=<
7l B
> <<
) =
,,,
bl o S
=1 2 3.3
2 20
o H~.o,‘3’,'|‘
— ZS wn-
= E @
5] 2% 8«
2. .
< LIJOJU)E
a Z 37
2 mﬁl—gﬂ
s 38
~t W -
0 <2 E5zd
| o =5R
|3 U'lo 1
|_LIJ = Q ;o
= g(ﬂ 5%
ko 5.3 92°
E g3 8%y
< z o
s 8= Z
i
\ o
R\ fige)
BN T
Of N5 50"
=l e 3z
K kY =
Q
S v B
o %
=

DRAWING NO. [REV.

1670

SHEET NO.

2 o 10




MULLION ALLOWABLE
DESIGN PRESSURE

(ARCH!TECTURAL
LOUVERS)
MAXIMUM | MAXIMUM|  ALLOWABLE
MULLION | LOAD PRESSURE
SPAN | WDTH | (1+/= PSF)
(IN) (IN.)
80 514
54 58.3
18 76.8
120 D) 87.8
36 1024
30 120.0
80 84.3
54 93.6
108 48 105.3
") 120.0
96 80 120.0
NOTES:

1. SEE ELEVATION FOR DIMENSIONING
OF LOAD WIDTH.

2. ALLOWABLE UNIT PRESSURE SHALL
BE THE LESSER OF THE PRESSURE
SHOWN IN THIS TABLE & THAT
SPECIFIED FOR THE INDIVIDUAL
LOUVER PANEL.

60 3/8" MAX. 59 7/16” MAX. 60 3/8" MAX.
1/8" MAX. GAP ——te —{-1/8" MAX. GAP
(ATY AN (CTYT2YTIN
41 A4/ 5 A8EAE/
QOPPOSITE
(BN 7 ENE— =A== —7BT
T = Pz {0 I =\
= (B2) 782
o \4/ \ 4
T % 783
w =\ 5
= /B9 Jﬁé
=&/ =\ 5
> ALLOWABLE DESIGN
= PRESSURE
o) (MULTIPLE ARCHITECTURAL
= PANELS) |
SEE MULLION
PRESSURE TABLE
/ ON THIS SHEET

™

4 q

FOR LOCATIONS OF JAMB CLIPS, EXTERIOR ELFVATION:
SEE SINGLE PANEL ELEVATION MULITPLIE LOUVER PANELS

NOTE THAT FRAME SPLICE
éogs NOT APPLY TO MULLED (ARCHITECTURAL)

UNITS) SCALE: 1/2" = 1’0"
(3 PANEL UNIT- SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)

. Approved ing with the
T Sorhe

10
Miami Dhade Control
By

CHECKED 8Y:
W.W.S,

DATE:
07/23/09

REVISION DESCRIPTION

NO.

LE-54 IMPACT LOUVER SYSTEM

DRAWING TITLE

MANUFACTURER

INTERNATIONAL DRIVE
HOLLAND, OHIC 43528
419-865-5000

AMERICAN WARMING & VENTILATING
7301

CONSULTANTS

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING
8895 N. MILTARY TRAIL; SUITE C—204

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CERTIFICATION

Q
o

[ SCHAEFER, P.E.
NO. 44135

WARREN

DRAWING NO. |R

1670

2

3

SHEET NO.

or 10




JORAWN BY:  |CHECKED 8Y:

SUBSTRATE BY PLO:.R.M. DATE:LVLS.
' OTHERS 1=4 07/23/09
BACKER ROD & \ T E BY BACKER ROD & CLIP/JAMB
CAULK BY OTHERS CAULK BY OTHERS ANCHOR PER b
1/2" MAX. . 1/2” NAX. I . ANCHOR °
[ space [” 'sace s D REQUIREMENTS (1420) N
= 1 TABLE ON L4154534450) X
CLIP ANCHOR 20, SHEET 1 x
PER ANCHOR w g
) REQUIREMENTS > &
TABLE ON o éma a
O SHEET 1 . : ' SUBSTRATE BY »
b é ‘ b —(25) OTHERS 2
2n MAX Farsatanivi| » a0 -./ E
: 2" MAX. o BACKER ROD & . :
i { \ 1/8" X 1 CAULK BY OTHERS g
JAMB WELD EACH EXTERIOR
[EXTERIOR| CLIP [EXTERIOR] SIOE 1/2" MAX. SPACE — FRAME WIDTH —
——L) 2
| SECTION /&0 =
T - SCALE: 1/2 FULL &/ % g§
m A A & Y ————- (NO SLEEVE & CLIPS TURNED OUT) > 258
y e s y oo suce s 23]
= /\© / ET
& < (MULLION SPLICE © EZn
£ IS NOT PART OF £ 1S NOT PART OF SZ .
THIS APPROVAL) THIS APPROVAL) § §%o‘w
- <t
CLIP/JAMB Z -5
ANCHOR PER / 04 S BE
@\ @\ ANCHOR gy ™
| REQUIREMENTS = 5=
g —— TABLE ON LLULUSARANY E é
, © | SHEET 1 g 2
— SUBSTRATE BY el o 3
@\ OTHERS 91 2 3
5] x &2
o] W bR
N BACKER ROD & 3 w< iRl
L CAULK BY OTHERS 51 8 32t
/@ EXTERIOR g 5%- sy
1/2” MAX. SPACE —— FRAME WIDTH —=— s | =& &8,
- wd, %o
gﬂogﬁb OPTIONAL < > 3¢
” QrToNAL SECTION /B 0 g_% Sgﬁ’
i = ~
| 1/2" MAX. SPACE 1/2" MAX. SPACE SCALE: 1/2 FULL \ &/ Eu £33 28]
SUBSTRATE BY (NO SLEEVE & CLIPS TURNED IN) R EF a0
OTHERS OTHERS : 5 ¢
SECTION /7 SECTION /72y — -
SCALE: 1/2 FULL \ 4/ SCALE: 1/2 FULL \ 4/ a
(SLEEVE MOUNT) z =8
= w3
S O
G e z
o . G .
Apgroved as corplying with tho | v X
Dwte 0/, OF = i
NoAY ¢ s %
g;rp oduet Control =
By. DRAWING NO. ] REV.
1670
SHEET NO.
4 o 10




' DRAWN BY: |CHECKED BY:
SUBSTRATE BY PLO:.R.M. DATE\.n.w.s.
OTHERS “TUBE MULLION CLIP s
BACKER ROD & ANCHORS PER ANCHOR "
D /@ CAULK BY OTHERS 5T REQUIREMENTS TABLE ON z
; 1/2" MAX. SHEET 1 (4 PER CLP)
i ’ r SPACE £
Y 5
*re . g
M 4" MAX. 7
Q@
SUBSTRATE BY EXTERIOR g
OTHERS ,
N\ []
BACKER ROD & | , o g
CAULK BY OTHERS A ~
EXTERIOR & 0
1/2” MAX. SPACE —| |=— FRAME WIDTH —— o - VA © Z
\ _— MULLION CLP <y
SECTION /B . - o o  ANCHORS =
| SCALE: 1/2 FULL \5.J S S ° (REF) L .83
(WITH SLEEVE & CLIPS TURNED OUT) = A 1IN o 50 3 ¥ 2503
= S = SN S 5% P
& y Y S g i =] @ .S = %
@\ /@ Z i) \ < Ego{]
&) r EACH EDGE , L\t 8" MAX. 0.C. SRIINE =Z33
5” “OF ANGLE NS i L z 3
Q = < OI
, N L —— o Tol 1 .S 3
L/ g, . g~
\ Qs » 2
' 7\ 0 1 3/4 = o2
+ (@) o —L_T @ 2
1/2” i n g -
» % Q g
SUBSTRATE BY 5" MAX /2~ == | 1/2 3] & Sef
* m (7] <~
OTHERS 1.3/4 Sl w<onl
= oo g—lfg
EQB}E}ERB\BOODT !ch - (FOR DETAIL NOT SHOWN, Q %0 Thx
2 a TUBE MULLION CUP SEE SECTION E/9 o z 2"
" EXTERIOR ANCHORS PER ANCHOR /9) Z | &5 ey
1/2" MAX. SPACE — FRAME WIDTH —— SILL PAN REQUIREMENTS TABLE ON + | 573 £°%
° i SHEET 1 (5 PER CLP L9 | £2 33¢
SECTION /B 1/2" MAX. SPACE INOT WOOD SUBSTRATE; 4 u 280 L8]
— 3 < “w
OTHER SUBSTRATES) s |2* 8%
(WITH SLEEVE & CLIPS TURNED IN) SUBSTRATE BY OTHERS SECTION /T 5= z

SCALE: 1/2 FULL \B/

(ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE; INSTALLED INTO WOOD, STEEL,

ALUMINUM, OR METAL STUD SUBSTRATE)

. SCHAEFER, P.E.
NO. 44135

CERTIFICATION

DRAWING NO. |REV.




& ©

TUBE MULLION CLIP
ANCHOR PER
ANCHOR
REQUIREMENTS
TABLE ON SHEET 1
(1 PER CLIP)

SUBSTRATE BY OTHERS

SECTION

/T2
SCALE: 1/2 FULL \ 6/

(ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE; INSTALLED INTO CONCRETE SUBSTRATE)
(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

Approved ss complying with e

Florida B
Dae 21/06/20/0
MOA# 2 J&

S

(FOR DETAIL NOT SHOWN,

SEE SECTION E/9)

4 PER ANGLE

(1 AT EACH CORNER)

\3/16 |/ 1.5" LONG

FRAME HEIGHT

<Y

D

T
I
I
i el
| I
o !l ] @
! | 0.C. 4_1/4"
: : MAX.
| f =
o JU
I I i \_‘
|| 4172 | 1/2” MAX. SPACE / )
: } (SHIM AS REQ'D) SUBSTRATE BY OTHERSJ
| 0 SECTION /23
| I SCALE: 1/2 FULL \6/
II © : 1.1/2" (ARCHITECTURAL LOUVER WITH PERIMETER
o | 0.C. SLEEVE; INSTALLED INTO ALL SUBSTRATES)
DI | (FOR DETAIL NOT SHOWN, SEE SECTION C1/5)
| 00—
| 1 {
| 1

(FOR DETAIL NOT SHOWN,
SEE SECTION E/9)

POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE
VARIES WITH SUBSTRATE THICKNESS & MAY BE
POSITIONED UNDER THE MULLION END SUPPORT
ANGLE. WHEN THIS OCCURS, THE SLEEVE ANGLE
ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE
& MAY BE POSITIONED TO RUN THROUGH THE
MULLION END ANGLE AND SLEEVE.

; T[ORAWN BY: |CHECKED BY:
§$5§;§ATE BY TUBE MULLION CLIP MULLION cLIP BACKER SUBSTRATE BY 1747 uax. _hmw |__wws |
ANCHOR PER ANCHORS E,E\)SL}fC 5 OTHERS 1=4 07/23/09
ANCHOR !
REQUIREMENTS \/\ (REF )/_@ OTHERS i
TABLE ON SHEET 1 | 12" MAX. .
(1 PER CLIP) [ space - ///—(:) N
o g
~® :
HiNE 3
< 7 g
EXTERIOR| ¥/ JoRE EXTERIOR] ¥/ ‘\\::>\_‘!D :

NO.

(&)
Z
gm
g =
= X
Z N
i
> Mo
<v8
z
Q‘OQ‘?
O =T
Z 203
S F .0
x gJgo |l
< FFzo
;Zj‘——
=Jd«
2_5
< o
u:g P’)I
Poe I~
BY
=
bR
el E
>__ <
n =
L]
gl o 8
>1 £ 7
51 & &2uv
e} o L¥R
bt W "3
Z 3w =
=pn & “g
[ [T) =
O > .aE,
< LLJOLT(AE
o Z 35
= X~ Fon
- Lt o
LS 359
O BT L7, O
n <=z 35w
| IS 38R
=] ﬂOo .o !
L7 o 5
- n J
S EPOL- F
= 7] L4
: 5 3
& o= a
L
o
z @3
o o
ot La~
< N
Jl S O
EN nz
Eles \ \=
(]
O'l—'l .
[ o—
Q

0
%

DRAWING NO. |REV.




CHECKED BY:

SUBSTRATE -BY
OTHERS

BACKER ROD &

CAULK BY OTHERS

1/2" MAX
SPACE

MULLION CLIP ANCHORS
PER ANCHOR
REQUIREMENTS TABLE ON

RESIINALITINLY

SHEET 1 (8 PER CUIP)

AL IRERII TN YY

FRAME HEIGHT

Ny
=
>
>

ors

7N

]

OPTIONAL
SILL PAN

| 1/2" MAX. SPACE
(SHIM AS REQ'D)

SUBSTRATE BY OTHERS

SECTION

LT

/D1

L MULLION CLIP
ANCHORS PER
ANCHOR
REQUIREMENTS
TABLE ON
SHEET 1 (8
PER CLIP)

ST

SCALE: 1/2 FULL \.7_/
(NON—ARCHITECTURAL LOUVER WITHOUT

PERIMETER SLEEVE & WITHOUT TUBE
MULLION; INSTALLED INTO ALL

SUBSTRATES)

i

()

Lo

LI s/e /@

\/NQA il
SO o
s
~_| “’*Jf ° T
i
T~ o 3/4"
- = MIN
/_@ T O .
n O
— ll/l Tt Inult‘llilll L O § o
D— a2
AT TaTam T LU Ta i O 8 ~
~®
s o)
o O
4] il O\
l— 3~ | MULLION CLIP
ANCHORS (REF.)

7 EQ. SPACES

778" 1
e 1 1/2”0C "

w

1 I
Lo
gy |l @ .
l I /
Bisiyiims | © |
l |
vivims | & |
\ r = O U UIODILIT I] :
\ =T WELDS | ° | | 7 EQ. SPACES
12 | (REF.) AT 1 1/2" O.C.
AN lll“fl{l‘l‘l" ’ @ ’
| |
Risiees | ©
|
v I |
i
<l —; 1” I ©—|L
i | I
le— 3" —= l |
L4

N3

_f'_

BACKER ROD &
CAULK BY OTHERS

SUBSTRATE BY
OTHERS

1/2" MAX. |
[ SPACE

‘__
I
&)
Ll
I
78]
=
<C
[a
[
3/16 ]2
g T
OPTIONAL é
SILL PAN \
| 1/2" MAX. SPACE 17
(SHIM AS REQ'D) SUBSTRATE
SECTION oy OTHERS

SCALE: 1/2 FULL \ 7/
(NON—ARCHITECTURAL LOUVER WITH
PERIMETER SLEEVE & WITHOUT TUBE MULLION;
INSTALLED INTO ALL SUBSTRATES)

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7)

POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE
VARIES WITH SUBSTRATE THICKNESS & MAY BE
POSITIONED UNDER THE MULLION END SUPPORT
ANGLE. WHEN THIS OCCURS, THE SLEEVE ANGLE
ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE
& MAY BE POSITIONED TO RUN THROUGH THE
MULLION END ANGLE AND SLEEVE.

AT ENDS &
MIDDLE;
EACH EDGE
OF ANGLE

BY

WWS.

DATE:
07/23/09

DATE

REVISION DESCRIPTION

NO.

MANUFACTURER

INTERNATIONAL DRIVE
HOLLAND, OHIO 43528
419-865~5000

AMERICAN WARMING & VENTILATING
7301

LE—54 IMPACT LOUVER SYSTEM

DRAWING TITLE

CONSULTANTS

8835 N. MILITARY TRAIL; SUITE C—204
PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-~775-4903

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A.

ey

CERTIFICATION

J

0CT 13 200

SCHAEFER, P.E.
NO. 44135

T

\

DRAWING NO. |REV.

1670

SHE

7

ET NO.

ofr 10




DRAWN BY: JCHECKED BY:

MULLION CLIP ANCHORS
PER ANCHOR
REQUIREMENTS TABLE ON

SUBSTRATE BY
SHEET 1 (4 PER CUP)

OTHERS

LSIRLAIRIELLD)
$38151311414)Y

22

o F—————

,yﬁ\i
%A:ﬂ
T

7.2
£

|
l

Lesvarassasnini
Lessai rrakaaens

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE ON

SHEET 1 (5 PER CLIP
SUBSTRATE INTO WOOD SUBSTRATE; 4

BY OTHERS SECTION /T3 PER CLIP INTO ALL
(NON—ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITH TUBE MULLION;
INSTALLED INTO WOOD, STEEL, ALUMINUM "
& METAL STUD SUBSTRATES) ida Bui

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7)

10

VA ° ol

3.9

O
©
pads
\
L
ISP
[e]

IR [Srnie| {' z
j == v
=
Lerriins
Lwiaafaslallaialalal

olol 1

1 .3/4"

A, o @“_L—F
1/2":r
1/2" — e~ (=—1/2"

1 3/4"

(FOR DETAIL NOT SHOWN,
SEE SECTION F1/9)

MULLION CLIP
ANCHORS
(REF) /73
|

P’

1

)
SN N \
L[ | T l @
[=== N
peisiris
nisiniesiniisinl 1f

SXX

T,

N
Y

s
/\/ 1.1/2”
f

(FOR DETAIL NOT SHOWN,
SEE SECTION F1/9)

OPTION: USE A CONTINUOUS 1 1/2" X 1 1/2" X 1/8"
6063-T5 ALUMINUM ANGLE IN LIEU OF INDIVIDUAL
ANGLES PART #15. ATTACH CONTINUOUS ANGLE TO
TUBE MULLION WITH 1/4—-14 X 3/4" SELFTAP/DRILL
SCREW WITHIN 5" OF TUBE ENDS & 8" MAX. O.C.
ATTACH CONTINUOUS ANGLE TO LOUVER FRAME WITH
1/4—14 X 3/4" SELF TAP/DRILL SCREWS WITHIN 5"
OF FRAME ENDS & 4" O.C.

MULLION CLIP ANCHOR
PER ANCHOR
REQUIREMENTS TABLE ON

SUBSTRATE BY
SHEET 1 (1 PER CLIP)

OTHERS

& &

EXTERIOR

—— g F—————

Ei
=

D)

MULLION CLIP
ANCHOR PER
ANCHOR
REQUIREMENTS

SUBSTRATE TABLE ON
BY OTHERS SECTION /D0 SHEET 1 (1
SCALE: 1/2 FULL \8/ PER CLIP)

(NON—ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITH TUBE MULLION;

INSTALLED INTO CONCRETE SUBSTRATE)
(FOR DETAIL NOT SHOWN, SEE SECTION D3/8)

W.RM.

WWS.

FPLOT:
1=4

DATE:
07/23/08

DATE

8y

REVISION DESCRIPTION

NO.

S ———

MANUFACTURER

INTERNATIONAL DRIVE
HOLLAND, OHIO 43528
419-865-5000

AMERICAN WARMING & VENTILATING
7301

LE~-54 IMPACT LOUVER SYSTEM

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

DRAWING TITLE

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561~775-4903

CONSULTANTS

CERTIFICATION
0CT 13 2009

DRAWING NO. |R

1670

SCHAEFER, P.E.
NO. 44135

\

> g
w
o,
E
=

2

SH

8

EET NO.

o 10




DRAWN BY: CHECKED aY:
WARM, WW.S.

BACKER SUBSTRATE BY ——{|— 1/4" MAX. 4 PER ANGLE %

ROD & ;
OTHERS \3/16]/ 1.5" LONG \ {1 AT EACH CORNER)
@) A /

3 DATE:
1=4 07/23/09

Bt

SPACE

OTHERS

1/2" MAX.
-—F o : :

Lervarns

£
u T a Lo m Tl 4
REVISION DESCRIPTION

NO.

|

l

|

ﬁAﬂ |

|

|
mmﬂ@

r/& |

E I

- 4

CAULK BY /_@
G4 O 4 @\
N
S
ON

. 1/ —fl—1/8" MAX. 3 EXTERIOR
(]
=z
T SECTION D) SECTION /TN g "
n P : SCALE: 1/2 FULL \&/ SCALE: 1/2 FULL \8/ 2 2w
7 T T Z oA
5 - | 6B (ARCH'TECTURAL) LOUVER  (NON—ARCHITECTURAL LOUVER & 8o
o I MULLION ¥ s
= | B sec opron o . WITH TUBE MULLION) 33,8
- 2
2 | | SHEET 8 0.C. /—@ 0824 Z 558
. I - 4. - = xr -9
| o |
| | Lk } I~ 0.078 $220
| : 2.250 = =3+
5 Z ol
o / S <o GVom - ke
. . A
I —l H = %LIJ
l 11: C =) 2 = 2
r | ‘ (FOR DETAIL NOT SHOWN, ON 5 () —— 5.078 — wE=<
SEE SECTION F1/9) " 0 |2
, 2 ._/ > g
e E (19~ [ExTERIOR] 0.078 —=—|=— 1 z
>1 2 3.7
5723 ——] A‘ |~ 1.250 SECTION /&= 2250 2| & fa
:\4{& I SCALE: 1/2 FULL \9/ o R
g . =1 9" 327
= / O | —-—0.078 (NON—ARCHITECTURAL LOUVER @S _ Q| 2o et
1= Z IZ
JL 0.060 = _ [ WITH NO TUBE MULLION) AED
: 5.787 ' : = 233
E DEPTH AS REQUIRED 4.824 ' ;f,' 4o £zl
I — e o~
| 1/2 MAX. SPACE [ ! OPENING SUBSTRATE f ( Py (258 28T
(SHIM AS REQ'D) SUBSTRATE BY OTHERS —/ J @ = | 2.297 0.060 o |59 837
—— JAMB | BLAD OR : 27 &
SECTION /5 (3) SILL_PAN (OPTIONAL) 1.500 *’J" 0.125 (5) SLEEVE ® 0.080 S CENE
SCALE: 1/2 FULL \ 8/ MIN. —i  3.000 k ;
(NON—ARCHITECTURAL LOUVER WITH S
PERIMETER SLEEVE & WITH TUBE MULLION; — 3000 F — 3000 f‘ z @8
o L
INSTALLED INTO ALL SUBSTRATES) 3.470 = &
. © Qo
(FOR DETAIL NOT SHOWN, SEE SECTION D3/8) 5.000 = 22
1.598 0o7g 4000 |/0.188 — i~ 4.000 |[0.250 —= f— 0.250 —| = Gl ¥ gl
POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE ' = o
VARIES WITH SUBSTRATE THICKNESS & MAY BE f o S
POSITIONED UNDER THE MULLION END SUPPORT (7) BLADE_SUPPORT —= Miarai Dade Coarel
ANGLE. WHEN THIS OCCURS, THE SLEEVE ANGLE BRACKET i " BRAWING WO TREV.
ATTACHMNENT SCREWS SHALL MOVE WITH THE ANGLE (8) TUBE MU!!ION (USED @) ION (USE (9) IUBE MULLION (USE g%‘;_ 1670
& MAY BE POSITIONED TO RUN THROUGH THE WITH _NON— WITH _NON— NON— WITH_ARCHITECTURAL SHEET NO.
MULLION END ANGLE AND SLEEVE. RQHITEQTURAL LOUVERS) ARCHITECTURAL LOUVERS) QUVERS 9 o 10




7/

N N TEM 4 | TEM DESCRIPTION MANUFACTURER/NOTES DRAWN, oY= [CHeCKeD By
2 . 750 — 2 . 7 5 O e 3 ” M * N . PARTS PLO:,R,M. DATE\:LVLS.
! | 0.500 (TYP.) 77 MAX. 1 __[HEAD 6063-T6 ALUMINUM i 37/23/%
] y | 1.375 § SILL 6063-T6 ALUMINUM -
9/32” DIA. SILL_PAN 6063—15 ALUMINUM W
0.750] N @K/— HOLES ’ ‘ —— =—0.250 4 |JAMB 6063—T6 ALUMINUM 3
3,000 f 1.500 — 9/16" DIA. | 5_ |SLEEVE 5052—H32 ALUMINUM
- & 3.000 —@/‘ HOLES 0750 | 6 |BLADE 606316 _ALUMINUM 5
o o f "‘r— {B - 7 | BUADE SUPPORT BRACKET 606316 ALUMINUM
{ » oo BA |TUBE MULLION (USED WITH NON— 6063-T6 OR 6061~16 ALUMINUM
I o 4.000 2 ARCHITECTURAL LOUVERS) ]
0.500 375 N B & i 88 |TUBE MULLION (USED WITH NON— 6063-T6 OR 6061-16 ALUMINUM &
) A ARCHITECTURAL LOUVERS) g
1.375 L_ ‘ 0.250 - 7]
N . - 9 |TUBE MULLION (USED WITH 606316 OR 6061-T6 ALUMINUM &
‘ 0.250 5755 F ) ARCHITECTURAL LOUVERS) P
R X _’______ @\ il AS REQ'D FOR PROPER 10 |MULLION END INSTALLATION CLIP’ 6061-T6 ALUMINUM 2
L $\ il Ll g /16" DiA FIT WITH TUBE & AND SLEEVE 11 [MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM g
f L ) 4.000 2-000 . (NO LESS THAN 17) 12 |MULLION END CUP FOR SLEEVE 6061—T6 ALUMINUM
4.000 2-000 H9/16" DIA. f HOLES MOUNT LOUVERS S
o HOLES B T @ MULLION END CLIP FOR 13 [MULLION END INSTALLATION CLIP 6061-T6_ALUMINUM -
_t . il f SLEEVE_MOUNT LOUVERS 14 |LOUVER JAMB TO SUBSTRATE CLIP 6063—15 ALUMINUM
. - . : s S——" 15 Jskﬁgvsc L?;z TUBE MULLION TO LOUVER | 6063-T5 ALUMINUM (WITHIN 4" OF SLEEVE CORNERS »
== . MULLION END OR TUBE MULLION ENDS AND MAX. 8" 0.C.) >
@ MULLION EN @ —E_I STALLATION CLIP r 0.125 ‘ 16 | TUBE MULLION TO LOUVER BLADE ANGLE |6063-T5 ALUMINUM =
_——_—QINST P oo INSTALLATION CLIP e (ARCHITECTURAL LOUVER) 33
INSTAL cu } & 1,500 17 | SLEEVE SUPPORT ANGLE 6063-15 ALUMINUM E x®
12,000 18 |LOUVER JAMB TO SUBSTRATE CLIP 606315 ALUMINUM & “un
] 19 |MULLION COVER 6063-T5 ALUMINUM > 22 o
‘ 7 SPACES @ 1.5" - 0.750 (TYP.) 1.500 AS REQD IN FIELD 753 CONTINUQUS SUPPORT ANGLE 6063—-T5 ALUMINUM 3 208
0.57 ' CONTINUOUS SUPPORT ANGLE 606315 ALUMINUM Q=
b 0.750 o ® ° i J 375 (TYP.) — !“ I— | MISC. FASTENERS S 'Z%lfl)
2250 _f_. ) PN 25 [1/4—14 X 3/4" SELF TAP/DRILL SCREW |2 PER CLP Sz %
] 3000 MIN. 9/32" DIA. g T 1.500 26 |1/4-14 X 3/4" SELF TAP/DRILL SCREW |WITHIN 4" OF CORNERS & SLEEVE SPLICES & MAX. & Gg |
— ¢ po® @ ‘ HOLES o 8" 0.C. (CLUSTERED AT MULLION ENDS PER DETAILS) fEzo
| ! —A i i j i OUVER JAMB TO } 27 _|1/4—14 X 3/4" SELF TAP/DRILL SCREW |8  0.C. PER SECTIONS “é <+
2/32" O / L_E——LSUBSTRATE P 28_[1/4-14 X 3/4" SELF TAP/DRILL SCREW |4 AT HEAD & 2 PER BLADE Z pe
8/52" DiA 0.575 ‘_* ’__ 0.950 29 (1) ézs/éTsL"N/ﬁTw&HggLTHEAD PLATED STEEL|2 PER MULLION END Hﬁ % RI
” m
o 4 r 0.125 /r9 /32 DIA,. HOLE 30 |1/4-14 X 3/4: SELF TAP/DRILL SCREW |10 PER CLIP = Eg
| o 6 6 o $T€} o o 2000 . (NOT REQ'D WHEN 31 |1/4—14 X 3/4" SELF TAP/DRILL SCREW |1 PER CLIP T S
_________ - . f 7 TO SLEEVE) 32_|NO. 7 X 1/2" SMS_SCREW WITHIN 6" OF CORNERS & 24" MAX. O.C. v |2
_________ { ' ; 3—+1.500 33 |1/4-14 X 3/4" SELF TAP/DRILL SCREW |SEE ANCHOR SPACING/PRESSURE TABLE <>n' 2
L 0, SPACES 0575 T i TABLE FOR SPACING REQUIREMENTS el o n
0.750 — ) . 1.500 (1] g
@ 1 1/2" 0O.C. S| & &l
0.375 (TYP.) —— ‘—0-410‘ 0.125 al & 338
M ND_INSTALLATI P s 1.750 — o 3| w< oAl
9/32" DA—T" YT~ 1.500 i N ] 51 2% 3=
HOLES - - o | &g uyE
B L RES () SLEEVE oR Tuge ! RN e 2| =5
= o S
ﬁ ULLION TO LOU 0.629 A ‘ + | &3 509
JAMB CLP o | %2554
1.500 0625 MULLION COVER du |0 58 285
500 ] W 1200 o
CONTI o EAE Y
s 0125 | ‘———f— NUOUS - ezl
n ‘ z 2 g 2
9/32" DIA 9/32" DIA. ! . f , o™ ! 1500 —8 % s &
HOLE 8" MAX. | &4 HOLES AT EACH | 0250 9/32" DA HOLE — 7 |12 103 1 )
0.C. LOUVER BLADE  —— | ; 2 1-500 (21) CONTINUOUS E
0.375 —— SUPPORT ANGLE ;
2.000 1.500 AS REQ'D IN FIELD f 1.5” LEG SHALL BE 5 B
TUBE_MULLION TO 4 0.375 (TYP.) —| co S| 2y £
‘ jﬁ NTINUOUS ECURED TO THE ISR T
LOUVER BLADE_ANGLE —{ 2.000 [ | LOUVER JAMB Clem © ag
(ARCHITECTURAL LOUVER) @) SR suevost 9/32" DIA—T% $T 1.500 1.500 N
. . . ol \
(LENGTH = CONTINUOUS) _L—ANGLE HOLES | I T e e e |©15 |8
ERL LOUVER JAMB TO 7 YL = g
(LENGTH = CONTINUOUS) SUBSTRATE_CLIP CONTINUOUS SUPPORT >
DRAWING NO. }REV.

1.5" LEG SHALL BE
SECURED TO THE
LOUVER JAMB

ANGLE

1670

SHEET NO.

OF

10

10




